HREENEN

gu3b dobooboooooobboood

oo g

gdi1s5050220



010
1.1
1.2
1.3
1.4
1.5

020
2.1
2.2
2.3

030
3.1
3.2
3.3
3.4
3.5
3.6
3.7
3.8

040
4.1
4.2
4.3
4.4
4.5

00000000000000

00000000000 .« © o0 e e e
000000000000000 .+« oot e e et e e e e
OO000000 . . o0t e e
OO0000000 & o oot et e e e e e e
00000 MatlabOODODOD) . oo oot e e e e e

ooooboooo

I
I P
OO000000000 .. s

goo0ooobooooooooooon

OO000O000 . .. e e e e s e
OO00O0D00000O00 ... e e e s s s e e
0000000000000 0000 .+ . . 0ot e e e e e e e
O000D00000O0000000000 « .00t d s e e e
O000000000000000000 « .« 000t e e e e
OO000D00000O0000000 ... e s e e e e
OO000D00000O0000 .« . . e s s s e
Daubechies OO O ODOOODOODO .« o oo 0t e e e e e e e e e e e

oooobooooboobooonog

UO0O0000000 . e e e
OO0000000 .. s e e
00000000000 (@O)OO0O0oOO00000 @ ..t e e e
OOO0O0O000 ... e

o Ut o= NN

11

15
15
16
17

19
19
20
21
22
23
24
25
26



U1 togbdbootdbootubotdd

1.1 0odoooboogd

O00ooo0o0o0ooo0o00ooooUooooooooooooUoo0 () 00000000
000000000000 0000000000000000 (non-stationary process) I 0000000
O (time variant process) 0000000000000 2() 00000000 t, 000000O0OOOO
oooooooooooooooooooooboboooooooooooooooooboboobbOooooo
ocooooooOoOOOOOOOOOOOOOO0O0O0O0O000000t,LOOO000000000000
000000000000 0000000000000 ¢£,000 [to—T/2, to+T/2]00T00000O
oco0o0oooooO0oO0oooooOoOoOoOoooooOoOoOoOoOoOoOoOoooooOoOoO0oOoOooooooOo0O00o
ocoooOoOO0ooorooooooooooooboo0 tyOOOOoOoooooooooooooo0o0o0o0oo
goooooooOoOoODOOOOOOOOOOOOn

ocooooooooooooooo wybooooOooooooooboOooOoOoooooOooboboOoDo
z(t)=sin(wet) D t=0000000000000000000000000O00 ()OO0 [-T/2, T/2]
000000000 zp,,(t) 0000000000 2(t)00

1 —Z <t< Z
Pr)s(t) = ’ 2 - T2 (1.1)
0, others

D00000000000000xr,(t) =2(t)Prsy(t)0000000000000000000000
000000000000000000000000000000 FOOOODOOOO«00000000
wr5(t) = 2(t)Prjp(t) 000000000

Xry2(w) = Floga(t)] = Flo(t)] « F[Pry(t)]

00000000000000 Pry(t)000000000F[Prs(t) = Tsine(Tw/2) = (2/w) sin(Tw/2)0
z(t)0000000 Fla(t)]0 4w, 000000000000 (§(w—wo) +8(w+wp)) 00000000
XT/Q(LU)DD

Xrppw) = Fla(b)] « FPr(t)]
(0(w — wp) + 6w + wp)) * Tsinc(Tw/2)
= Tsine(T(w — wp)/2) + Tsine(T(w + wp)/2) (1.2)

goboobboooooobobooboobboooboobbsined000O0000O0O0O0O0O00ODOOsine
goooooroooooobobooooobooooooboroooooooobooooobooboo
gboooooboooooaoon
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01.1:00001H/ 00000000 TO0OO0O0OO0ODO0O0OOOOO0OO0O0OO0OOO0OOOOOO

0010 000 0.1[HZ]OODO0OO0OO0OO00O T = 200,400,1000sec) 0O 0OO00D0O00ODO0OOO0OODOO
gbooooOobooooooboooooboo \XT/Q(W)FDDDDDDDDDDDDDDDDDDDDDD
O00o0o000o0ooo0oo0oo0ooUo0oo0o0oUo0oo0o0oUoo0noD 1Hz]O0DDODO
ooooooooooooooooooooo0oooooboOooobDoOoTrooooooooooooo

000 0000 1.100000000000000.1[Hz] 0000000000000 0000O00O0O0O
00000000000 -01[Hz 0000000000000 DOO0O0O0OOO0DDDOOO0OUOOOOO
TOOODOOUOUOOOODUOO0O0OU0O0O0O00U00O00000000oo0O (MatlabOOOOO exl.m)

000000 «()000000000TOO0O00O0O0O00O0O0O0O00O00Osince000O0OO00OOOO
000 X(w)=Fz¢))]OOODOODOODOODOOODOOOO0O0OOOODOOOO0OOOO TOOOOOODO
goboobbooboooobbbotilbwb wvydbboobboobobooobbbw 0wy 0oboooogo
oboooooroooobooooobooooobooobooooboobooobooooboooobooooo To
goooooooooooooooooooooboooDoboboboboboobobobobbobooo
oboocoooboobooooboo roobooboooooboobooooobooboooooooobooobon
ooooboobooooobooooboboooooonn

00 1al 000 0.1[Hz) DO0OOOOOO 0.102Hz) DO00DO0O00DOO0O0OO0OODO0OOOOT =
200, 400, 1000[sec) 00 000D ODO0OO0OOO0O0O0DOOOOOOOOOODOODOOUOOOOOOOODO
|XT/2(w)|2DDDDDDDDDD 2000000000000 O0OO0OOO0ODOO0ObDObOObOOOOO0OnOo
000000000000000000000000000000000D 1HZ /00000000000
ooooooooooboooooooooooooooDoo To0oooooooboOooog

obo0 ooboo112000b000000T02000000002000000000000000000
0007 =400,10000000000000000000000000000 (MatlabOOOOO exla.m)
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1.2 JU0gooobouoooooon

000000 Prp(t)0000000¢t=000000000000000000 A(H)0000O0DOOO
0000000000000 2(t)0000000

X(t,w) = /Ooas(t’)h(t’ —t)e ™ at’ (1.3)

— 00

00000000000 (Short term Fourier transform) 000 0000000000000 0 X(t,w)OO
00000000 (Short term Fourier spectrum)0000000000000 (Spectrogram) 000000
0+0000«00000000000000O0D0000D0D0O0 X(t,ww)OOODOODtOOOOoooooo
oot bD oD bDUbDbDbDbDbbDbbbobbbobo
00000000000000000 (Time-Frequency Analysis) 000 0000000000OOO0OOO
goooodg QDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDDPT/Q(t)DDD
000000000000 AyOODODOOUDOOOO0O0DOOO0DOOOO0OOODOOOOOOOOOOO
googobobooboooooooboobooooooobobbbooooooboboobog

gbooooooboobobobobootoobwdbobobOoboobooboobooboobono
0000000000000 00000000000U00000000000o0o0o0ooOng Ay oo
000000000000000O00O00000000000000000 ADODODODOO0O00000
Hw)=Fh#)0OOOUODOOOODUODOOOOUOOOOOODOOODOODOOOOO0OOODOOOOOOOOO
0000000000 A(+) 0000000000 A#*O0H(w)OOO0D0O0O000000 A?2000000
obooobOobooooboboooog

/ t2|h(t)? dt
A = f== (1.4)

/_Oo|h(t)|2 dt

/Oow2|H(w)|2 dw
Aw? = =% (1.5)
| @

— 00




obooobOobooooboooooboboooboobooooboon
1

000000o0o00oU0o0oo00oU000ooO00U0U000O00DULOO0OO0O0oUOO0 /2000000000
gooboooboooooooooooobbogoboooooobboooooobDoooboobogbooboOoo
000000000000 A(y)DOOOO

h(t) = ae b (1.7)

00000oO0000o0O0000O00O00oO0O0U0O00O00000O00000000H(w)OODOOOOO

H(w) = a\/geﬁ_i (1.8)

000000000000 U0000 A)OOUDOOOODODOOOUOOoO

G(t,w) = / a(t')ae P07 emiwt gyl (1.9)
00000000 (Gabor transform) 00 000000000000000000 gy, (t)0000 e b0—t0)
0000 wddooobodoooboboooobboboooooooo

0020 100000000000 0.01[HzZ]00O 04[HZ)0OOOOOOOODOOOOOOOOOOOOOOO
00000000 03Hz] OO 0.1Hz) 0O OODO0OODOOOO0DO0O0OO0DO0O000DO0O0oOooooo
000000000000000000000000000000 1[Hz/0000000 A)OODOOOO
O0000000000000T00000T =32,64,128[sec] 0000000000000 DOOOOOO
000 000000000000000000000 1.30000000000 T =32,64,128[sec|] 00
gobooobooooboooobooobbooboooooooooooboooboobooooooobooooo
gooooobobooooobogoooooobooooboogoooooobobooooooboobbobooooboooo
gbobooobobooooobobooooobobooooboboooooboobobooobooboboobooono
000000000000000000000000000 MatlabOOOOO ex2.m)

1.3 UOgooon

gbobguooogboooboboboboboboboboboobobobobooboboboan
0000000000000 0000000O000O000O0000O0ODO0O00O0OOOOoOOO «(t)
ubobobobobobooooooboobooboboboboooooooooboboobogoonoa
00000000000 2(t)000000O0

R(t,7) = Elz(t +7/2)z"(t — 7/2)] (1.10)

Ur-ro0oboboooobooooooobooootooboboboboooooobobobobong
000000oo0oo0oUoUof00-00000000000000 =(t)D0O0O0OD0O0OUOOOOOO
O00o00o0o0ooUoooo0ooUo0o0oUo0UE] - 000000000 z(t)DO0OO0O0OO
gobooobooobbooooboobobooobooboooobooooobooboOoooboooboaoon
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0 1.3: 0.01[Hz] 00 0.4HZ 0000000000000 0.3HZ 00 0.1[HZ 0000000000000
00000000000000000000000000000000000000007T = 32,64, 128[sec]
000000000000

O000x(¢)000000000000000O00O000O00O0O0OO00OO0O0OO0OO0UOO0+0000DO0ODO
obooobOobooooobooog

(1.11)

1 (T2
R(r) = lim = x(t+7/2)x*(t —7/2) dt
T—o00 T T/2

gooooobooooobobooogoobooo

oobObOoooooboobooboooobOooobo+¢:oo0oo0oo0oobooooboobbooboobooOoooo
goboooobooobooooboooboboobooooboooobooooboooboooobooobobooo
000000000 (1.10)000000000000000000000

ot + /2 (t—17/2) (1.12)
Or-r00000C0CO0O0O0OO0OO0OO0OOOOODODOtO0000 wOOOOooooo
W(t,w) = / 2t 47202 (t — 7/2)e= T dr (1.13)

0000o0000O0oOo0oo000oO0o0oO0o0OOo0D0oO0oUOO0O0DOOO0ODO0OD Wt,w)ODOODO
00000 (Wigner distribution) 00000000

0000000000000 0000000000000000000000000000000000D0000D0000D0O0
gooooooo



ooooooboooooon

1 T/2 1 T/2 0o )
lim — W(t,w)dt = lim —/ / x(t+7/2)x*(t — 7/2)e™"7T dr dt
T—o00 T/2 T—oo T -T/2J -
oo 1 T/2 .
= lim — t 2)x*(t —7/2)dt pe™*7d
[ [t =
= R(r) e ™7 dr
= [X(w) (1.14)

O000z2(¢)00000D0000000000000 2 0000000000000000000 wO
goooogoo

/_O;W(t’w) o= /_O;/_O;x(“r T/2)a"(t = 7/2)e” T dr dw
N /m{/me_m doba(t +7/2)a" (¢ = 7/2)dr

— 0o — 0o

- /Ooé(T)x(t 1 /2)a"(t — 7/2)dr = |z(t)]? (1.15)

— 00

gbooobogbodbobobobooooboboobobobobobobobooooboboboanoa
gboboobobooobooboooobooboooooo
0000000000000U000U00O0000UOo0U0oUoUo00 Wtw)OOOOOOOOOO
gbobooboooboobooboooooobobobooooboboboboboooobooboonog
00 2()0000 w,we 0 20000000000000000O0O0O00O0OOCOO0O0O w,w,O0OOO
ggboobobobogbobodbobooboboobobooboboboond ¢,te0onbog
gboboooooooboooboobodo ¢, tedbbooobooooboooboooboooboooan
gbobguooooobobobobobobooobobobobobobobooobobobonoa
gboboobobobobobobobooobobobboboboooooobobooboboonog
gbooooOobooooboobooooboooooobobooooboOoboon

00 30 D000 0.01[HZ 00O 04[HzZ 00D O0O0O0OO0OO0O 1000000000000000000O0O0O
00000000000 00o0o0o0o 1HZ]000000000000000000000.01[Hz] O
004Hz O0O0O0O00D000000O00O00O0O0O000000O0ODO0OO00OO00O0O0OOOOO0OO
gooo

000 0000 0.01[HzZ) OO 04[HZ] 00D O0OODO0OOOD 1000000000000000000OO
W(t,w)0O 1.4()000000000000000000000 0.3[Hz]00 0.1[Hz 00000000
0000000000000 000000o000 Wtw)OOO (b)DOO0ODO0DODO0O0O0OO0OOOOOOO
gbobooboobooobooboboboboooooooboooooooboooboooboooobooooo
ggogobobooobooooboboobobboooobooob bbb bbobLoo b
gooobobbboooooobobboooobbbbdoobDbbboodDbbbboooUb o
(MatlabO OO 00O ex3.m)
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014:000000000000000(a)0.01[Hz]00 04[HZ 000000000000000000
000 (b)0.01[Hz] 00 0.4/HZ 0000000000000 0.3HZ 00 0.1[HZ 00000000000
00000000000

1.4 0O0O0OO0OOOOO

00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
000000000000000000000000000000000000000O00O00

00 z()00000000 W(tw)0OOO 20000 ®(tw)0 2000000000000000

Ot w) = Wt w) + D(t, w) = /_Do /_OOW(t’,w')cp(t e — o) d do (1.16)

000000000000 (Cohen’sclass) 10 00000«0000000000020000 &(tw)0O
000000000000000 W(tw) 0ODOOOOO0O0000000 ®(tw)=46t)dw)00000
000000000000000000000

0000 (1.16)0000 C(t,w), W(tw), ®(t,w)0000020000000000000

1 o9} o

MO,7) = 5| C(t,w)e e dt dw (1.17)
1 (oo} o0 . i

Al, 1) = — W(t,w)ezete“”dt dw (1.18)
T J—o0d —0
1 oo [ee) . .

o0,7) = 5;/ D(t,w)e? e dt dw (1.19)

gooooo (1.16)DDDDDDDDDDDDD
M, 7)=A(0,7)6(0,7) (1.20)

0000000000AW,7)0000 2() 00000000 W(t,w)0200000000000000
0 (1.13)000000

A0, 1) = /Ooac(t +7/2)x* (t — 7/2)et dt (1.21)

— 00



0000000 AW,n)00000C00O0C0D0O00O00L000UO00UOUOOUOOUOOODO 2(t)00O
0000 AW,n)0000 20000 ¢, r)00000000020000000000000000O0
oo

C(t,w) = /_ h /_ OOA(Q,T)(b(Q,T)e_wte_mT do dr (1.22)

0000000000000000000000
0000000 A(HDOO0D0D00000 «(t)h(f—t)00000000

R@ry:/me4wymMﬂ—t+Tﬂn%ﬂ—rﬁﬁﬂﬂ—t—rﬂﬂﬂ (1.23)

00000000000«2()00000000000000000000 «()k(t —¢)00000000
000000000000000000000000000000000000000000000000
000000000000 (1.23)00000000000000000000000000000000
00000000000000000000000000000000000 «(#)h(t—t)000000
0 X(t,w)000O00 20 |X(t,w)?000 (1.23)000000000000 R(t,r)0000000

|X@mﬁFZiK%Rﬁﬂ%fwwdT (1.24)

000000000000 000000O000000000o0d A(y)ODOD0DO00ODOOO00O0 $(—t,w)
00000000o00oo0U Ctw)DOODODODODOODOODOODOO0OODO0DO0O00OO0O0O0DOOOoooOo
gooooooboooboooooobooboooobooooooooboobooooboo0oobooboaon
0OCtw)>0000000000000

goooooooooooooooboobooooboooooooooobDooboDobDoDobDOoDbOoDbOo
gbobooooooooboooooboooooooooooooooooobobobobobobooon
gbooooooooobooooboobobobob 200000000000 0DO0DODODOODOO
gooboobooboooboobooooooboooboooooboobooooboooboobooOoooboooobooaoon
ooooboooo

0000000000000 000o000o000oD000o0o0oUo0o0ooU0o0n o(t,w)0 o
000 ¢(,r) 0000000000000 O00O0O0O0O0O0O0OO0O0O0OD -0U0000000 (Chu
- Williams distribution) 0 D0 0000000000000 00000000O0O0O00O0 ¢, 7)0000

MﬂT)wp(@T?¢#>, >0 (1.25)

00+0¢00000000000w0wd00000000000 2(¢)000000 AW,7)000
(0,7)0000000 (w —wa,t; —t2) 0 (wa—wi,t2 —t)0000000000000000000O0
0000000000000000000000000000000000C(4,w)0000000 A(4,7)
0000 ¢(6,7)0002000000000000000000 ¢(A,7)=10000000000000
000000000000000000000000000000000-00000000000 (1.25)
00000000 6¢000000-0000000000000000000 ¢(,7r)000000000
000000000000000000000000000000

0040 ODO0OO0OOOO0OO0OOOOO0OO0OOOOO0OO0OOOOOCO0O0O0OOO0ODODOOODOoODOOOOoOOo
goooooooooooooooooooobooooooooooooooooooOooobooboooOo T=
1024/8000[msec] 0 O O O
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1.5 00000 (MatlabOODODOO)

1000000000 MatlabODODOOOODOOOOOODOOOOODDOOOOOOOODOO
obooooooob 1o1sb0b000b0oboobobobooooobooboboooboooooobon
goboooboooboooboobooboooboooooboooboooobooooobooobobooooboooboaoon
oooon

function ex1
%00 1

set (0, ’DefaultAxesFontName’,’TimesNewRoman’) ;
set (0, ’DefaultAxesFontSize’,8);
set (0, ’DefaultTextFontSize’,8);

LL=[200 400 1000];
for k=1:3

subplot(1,3,k)

sub1 (LL(k))

title([’T=’ num2str(LL(k))])
end

set(gcf, ’PaperUnits’,’centimeters’)
set (gcf, ’PaperPosition’, [0 6 16 5])
print -depsc exl.eps

function subi (L)

N=2"14;

x=zeros(1,N);
y=sin((1:L)*(2%pi*0.1));
x(1:1length(y))=y;
xx=fftshift (fft(x));
px=abs (xx) ."2/L;
£=[-N/2:N/2-1]1/N;
plot(f,px,’Linewidth’,0.2)
axesresize([1 0.8])
x1im([0.08 0.12]);
y1lim([0 max(px)]1);

xlabel (’Frequency [Hz]’);
ylabel (’Power spectrum’);

function exla
% 00 1a

set (0, ’DefaultAxesFontName’,’TimesNewRoman’) ;
set (0, ’DefaultAxesFontSize’,8);
set (0, ’DefaultTextFontSize’,8);

LL=[200 400 1000];
for k=1:3

subplot(1,3,k)

sub1 (LL(k))

title([’T=’ num2str(LL(k))])
end

set (gcf, ’PaperUnits’,’centimeters’)
set (gcf, ’PaperPosition’, [0 6 16 5])
print -depsc exla.eps

function subi (L)

N=2"14;

x=zeros(1,N);
y=sin((1:L)*(2%pi*0.1))+sin((1:L)*(2%pi*0.102));
x(1:length(y))=y;

xx=fftshift (££t(x));

11



px=abs (xx) ."2/L;
f=[-N/2:N/2-1]/N;
plot(f,px,’Linewidth’,0.2)
axesresize([1 0.8])
x1im([0.08 0.12]);

y1lim([0 max(px)]1);

xlabel (’Frequency [Hz]’);
ylabel (’Power spectrum’);

function ex2
% 00 2

set (0, ’DefaultAxesFontName’,’TimesNewRoman’) ;
set (0, ’DefaultAxesFontSize’,8);
set (0, ’DefaultTextFontSize’,8);

t=0:999;
x=chirp(t,0.01,t(end),0.4)+chirp(t,0.3,t(end),0.1);

subplot(2,3,1)

nfft=32;

window=rectwin(nfft);

stft(x,nfft,window);

title([’Rectangle T=’ int2str(nfft) ’[sec]’]);

subplot(2,3,2)

nfft=64;

window=rectwin(nfft);

stft(x,nfft,window) ;

title([’Rectangle T=’ int2str(nfft) °’[sec]’]);

subplot(2,3,3)

nfft=128;

window=rectwin(nfft);

stft(x,nfft,window);

title([’Rectangle T=’ int2str(nfft) ’[sec]’]);

subplot(2,3,4)

nfft=32;

window=blackman (nfft);

stft(x,nfft,window);

title([’Blackman T=’ int2str(nfft) ’[sec]’]);

subplot(2,3,5)

nfft=64;

window=blackman (nfft);

stft(x,nfft,window);

title([’Blackman T=’ int2str(nfft) ’[sec]’]);

subplot(2,3,6)

nfft=128;

window=blackman(nfft);

stft(x,nfft,window);

title([’Blackman T=’ int2str(nfft) ’[sec]’]);

set (gcf, ’PaperUnits’,’centimeters’)
set (gcf, ’PaperPosition’, [0 6 16 10])
print -depsc ex2.eps

function stft(x,nfft,window)
x=[zeros(1,nfft/2) x zeros(l,nfft/2)];
[y,f,t]=specgram(x,nfft,1,window,nfft-1);
zz=abs(y) ;

zzmax=max(zz(:));

zzmin=min(zz(:));
pz=£fix((zz-zzmin) / (zzmax-zzmin) *256) ;
pz=uint8(255-pz);

image(t,f,pz)



colormap (gray (256)) ;
ylabel (’Frequency [Hz]’);
xlabel (’Time [sec]’);

function ex3
% 00 3

set (0, ’DefaultAxesFontName’,’TimesNewRoman’) ;
set (0, ’DefaultAxesFontSize’,8);
set (0, ’DefaultTextFontSize’,8);

t=0:999;

subplot(1,2,1)
x=chirp(t,0.01,t(end),0.4);
wigner(x) ;

title(’(a)?)

subplot(1,2,2)

x=chirp(t,0.01,t(end),0.4) + chirp(t,0.3,t(end),0.1);
wigner(x) ;

title(’ (b)’);

set(gcf, ’PaperUnits’,’centimeters’)
set (gcf, ’PaperPosition’, [0 6 16 7])
print -depsc2 ex3.eps

function wigner(x)

n=length(x);

maxTau=n/10; % less than n
x=[zeros(n,1) ; x(:) ; zeros(n,1)];
z=zeros (n,2*maxTau+1) ;

for t=1:n
for tau=-maxTau:maxTau;
z(t,tau+tmaxTau+l) = x(t+n+ceil(tau/2))*x(t+n-ceil(tau/2));
end
end

zz=abs (fft(z, [1,2));
zz=fftshift(zz,2)’;
zzmax=max(zz(:));
zzmin=min(zz(:));
pz=fix((zz-zzmin) /(zzmax-zzmin)*256) ;
pz=uint8(pz);
f=0:size(pz,2)-1;

image ([0 1000],[-0.5 0.5],pz)
colormap (hsv(256)) ;
ylabel(’Frequency [Hz]’);
xlabel(’Time [sec]’);

function y=shift(x,n)
x=x(:)7;
y=[x(n:end) x(1:n-1)];

function ex4
%00 4

set (0, ’DefaultAxesFontName’,’TimesNewRoman’) ;
set (0, ’DefaultAxesFontSize’,8);

set (0, ’DefaultTextFontSize’,8);
[x,fs,nbits]=wavread(’onkai.ume.wav’);
subplot(1,2,1)

stft(x,1024,boxcar(1024) ,fs);
title(’(a) Rectangle window’)
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subplot(1,2,2)
stft(x,1024,blackman(1024) ,fs);
title(’ (b) Blackman window’);

set (gcf, ’PaperUnits’,’centimeters’)
set(gcf, ’PaperPosition’, [0 6 16 7])
print -depsc2 ex4.eps

function pz=stft(x,nfft,window,fs)

x=x(:);

x=[zeros(nfft/2,1) ; x ; zeros(nfft/2,1)];
[y,f,t]=specgram(x,nfft,fs,window,nfft/4x3);
zz=abs (y) ;

zzmax=max (zz(:));

zzmin=min(zz(:));

pz=fix (((zz-zzmin)/(zzmax-zzmin)) .~0.35%255) ;
pz=uint8(255-pz) ;

image (t,f,pz)

colormap (gray (256)) ;

xlabel (’Time [sec]’);

ylabel (’Frequency [Hz]’);

14



20 HOOoO0odbootdbd

21 00O00Obooooooo

0000000000000000 () 0000000000000 0000000000UO0O000O0
gbooooooboboobdob 2000000000000 0bO00bO0b0ObObOb0 eODOOODOO
oooooooosooogoooDoOobob0oobobDboboObObUuebDOOMOODOOOODDOODOOO
oo

(1
(ualt) Lo 0) bR, o) = (77 (2.1)

OD000O00ROOOOOOODO0OO0O0O0OO0OOO00O0O0O00 ¢(#) 000000000000
0000000 1/y/[e/00000000000.,(t)02000000000000000000000
0ooooooooo

00000000000 ¢.,(¢) 000 =(t)000

W (a,b) = [ T ban(®)a(t) dt (2.2)

0000000000000 e, b000000D00DO00OO0DOODODOODOOOOODOOOOOODOODnOO
0000000000000 000000000000000000 z(v)0000000O00O0O0OOO0O
JodoobobbboooooobbobooooobobbbooobobboooobDbDbbooooUoDoo
000000000000 %(#) 00000000 (wavelet) 000000000000 (22)0000 a(f)
00 W(e,)) DODOO0DD0OO000D00DOO0O (wavelet transform) 0000000

0000000000000 0000U000O00UO0O0 A)OOODUDLOO0O0DUOOOOUOOOOO
gooooobboddddogooodUUooLbb b LoOooo
gjoooooooooooobobobbobobbbbobobooodddooooooooooboobo
gobodoooobuoobbbooobbuooobboooa

goodoooooooooobbooooooobbobobboboooooooooooooooooa
0000 W(e,b)0DODOOO 2(t)0000000000000

x(t) = /_w/_oowm,b)zza,b(t) da db (2.3)

00000 ¢.(t) 0000000000000000 ¢,,) 0010000 () 0000%(#) 00 has(t)
0000000000000

Daslt) = \/%i(tab), Va(£0), be R (2.4)

DDDDDDDDDDDDDDDDDDDDDDDDDDDDD(inversewavelettransform)DDI:IDI:IDI:I

()0 () 0000000000 (dual wavelet) 00 00000000000000000000000
0¢(¢)000000000000000000000
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00002000000 () 000000000000 ¥(f)0

o] 2
cwz[ "I’g)' df < oo (2.5)

0000000000000 000 (admissible condition) D000 (t) 0000000000 O0OOOO
DDDDDW(O):ODDDDDD/ Yt)dt=00000000000D00009(t) 000000000

0000000000000 0 0000000000000 O0OUO0O0ODOUDOOoUOOyY) oo
00000009 (t) 00000 yY*¢t) 0000000000 @(t)DDDDDDDDDDDDDDDDDD
00000 (23)00000000000O0O0OO0OO0OO

CwaQ/ / W (a,b)y, ,(t) da db (2.6)
0000000000000 00O00OO0O0O000O0O00OoO0DD 220000

22 QJ00bO0Ooo0obboobuobobuobboobouoon

00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
00000 b00000000000000000000000000000000000000000
0000000000000000000000¢b000000000000000000000000
000000000000000000000000

20000000000000000000000 LARO0D0D0D0D00000Z000000000
00000 {¢(t) € L*(R) | ke Z}0DOO0OD0D 2(t) € LAR) 0000000000 20000
0<AB<ocoDOOOOOOODOL}R) 00000000 (frame)000000

“Z</ W ) <B (2.7)
/_mundt

0000000A,BOO00O0OO0 (framebound) 000000A=BO00000000000 (tight)
0000000000000000000000000000000000 (00000000000
0000000000000000 (complete)J0000000000000000000O0O0OO0OO
000000A>0000000000000000«2(¢) 00000000000 z(¢)000O0O0OO0OO
0000000000000 «(t) e LA(R)0DO00O0O

2 (/ Vi (1) ) dr(t) (2.8)

000000000 {¢p(t) | k€ 2} 000000000000000 {¢(t) | ke 2} 00000
{p(t) | k€ Z} 0000000 (dual frame) 00 0000000000000000000000000
O {¢x(t) | ke Z})000000000000000000000000000000000000000
00 (Riesz basis) 0000 000000000000000 22(b)0000

000000000000000000000%(#)000000000«,b00000000000000
0oooooo

(i) 4,5 €Z Y, i (t) =222 — j) (2.9)

16



000 z(t)000D0000O0DO0OO
Wi = [ vuslte e ijez (2.10)

000000000000000000 (discrete wavelet transform) 000000004, ;(t) 0 L*(R) O
000000000000 0o00 (28)00

xU)zlijt%Jﬁhxﬂ (2.11)

0000D0000000000000000000000000000¢,,(¢)00000000 «(t)0
000000000000000000000000000000000000000000000000
0000000000000000 {¢,(¢) |ije2}0 AR 0D0000000000000O0O00
0000000 {¢:i;(t)|i,jeZ}000000000000

o ~ 1, t=kand j=I
/‘mwwwww: ! (2.12)
—0 0, others

000000000000000 4;;() 0000000 ¢()00
Gig(t) =222 - §), Q,jeZ (2.13)

000000000000000000
D00000D00000000000 4},(t)=4:;(t)00000 (212)00

e . 1, it=Fkand j=1
| vt e = (2.14)
o 0, others

00000000000000000000000000000000000000000000000
0000 ¢(¢) 0000000000 (orthogonal wavelet) 10 J000000000000000000
z(t)000

Wis = [ (ot dt =272 [ u(@t - jate) dr, ijez (2.15)
goooooo
w(t) = Y Wi (t) =272 Y Wi 97 (2 — j) (2.16)
i,jE€EZ i,jE€EZ

O00000000000000000 (orthogonal wavelet transform)0 000000000000 (inverse
orthogonal wavelet transform) 00 000000000000 000000O0O0OO0O0O0OOO 22(c)000O0O

23 0UU0O0Ooboooodad

gboboboboboboooobooooboboboboboboboboooboobooobooboooboonbo
000000000000000000000 (Haar function)

1, 0<t<1/2
P(t) =1 —1, 1/2<t<1 (2.17)
0, others
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Efoz—JLy k
BWTHEFET S

B rz—JLy bk
EEXYDz—TLvy bk
7RIy INERERET
Dr—JLvy FOBERJEN
Mo z—T Ly bD—DIZH B

PAZEIN
BEBNFET S
—ZREE

T L— LRI
HE— DK T L—LNFET S

(b) ZL—LE&)—REEDBER
(a) EfFEYz—TLv bk

BEEo T —J Ly k(W)
BEBMNFIES HONT

Yijih 7 Lb—L
HE— D E RN TFET ST
Yijhh) —REE
HDWTAFFFE S HDWT
Vi mE

E3DIT
Bij=wij

(c) BB z—TLv b

U21:000000000000000

goboooooboooboooboooboooooobooooboboobooobooooobooobbooobooobboboon
goboobooobooboooooboooobooooboooboobooboboooooobooobooooaoon
boobooboooooooooboooooooooooooboooooooooooboooboobOobobon
oono

gobooooooboooobooobooooooboobooooooooboooboooooooooooo
gobooobbooboobooooooobooboooooobooobooobobobooooboboooobooooo
0000000000000 00000000000000000000DO00000O0O000 ¥((t)eCc™d
[t| —ccO0OO0OO0O00O0ODOOOOO

/ootkw(t) dt=0, 0<k<m (2.18)

obOobo0ooooooboooooobooogbDOMeyerDOOO0O0OO0OoOoOoOoOoO0oooooboobDOO
gbooooooobooboobooboboboooooooboOMayerd0DooooooonooooboOoOo
OO000000000O0O000000D00DaubechiessOOOOOOODOOOOODaubechies 0000
gbooobooboobon
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30 tUbougtbdbootdbotubbototubgd

3.1 0Joooood

0000000000000 00000000000000D0000000000O0O0D0000000
000000000000000000000000000000000000000000000000
0000 «(¢+)000000000000000000000000000000000000000000
0000 4(t)000 z(+)0000000¢t0000000000000000000000000000
0000000000000 00000000000000000000000000000000000
0000000000000000000000000000

0000000000000000000000000000000000000000000000
0000 2z()000000000000000000000002000000000 LAR)00000
0000000000000000000

0002000000000000000000000000000000000O0O0O000000
() e LA(R)00D00 %, je ZOOOOOODODOO A, 00000000000 Aylz(t)]00000
00000002 00000000000000000000000000

0000002 00000000 A, 00000000000000000

1. A4, 0000000000000000000D000 Vy ¢ L3(R)00000000000000
Ay[z(1)] 0000 200000 Ay [Ay[z(t)]] 0 Ayfz()] 000000000 Ay o Ay = Ay [
000000000000000 V., OO0L*(R)000000000000000 2000000
00o0ooooo

2.000 A4, 00000000V, 00000000000000000A,[z(#)])00000 2900
000000000200000000 2()000000000000OOO0OOOO

[%W@%*ﬂﬂ?dtZ/ﬁm%dﬂﬂkfﬂﬂVdt Vy(t) € Va (3.1)

good

3. 00000 «(¢)0000 27 000000000000 «2(¢)0000 200000000000
00000000000000000

Vo CVoirr, VjeZz (32)
oood

4. 000200000V, O00O0O0000 2(+)00000000 «(2%) 0000 200000
Vyu+w 0000000000

t(t) EVy & 2(28) € Vyyn, Vi keZ (3.3)
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ooood

5. Ay[z(t)] 000000000000 2 000000000000000000V, 00 I%(Z)00
0o0oo0I0o000oo0

6. 00 x(t) e L*(R)0 277000 k000 27k000000000000020000000 Ay [z(t—
277K)|000000 2(4) 0000 20000000274 0000000000 Agy(z®)]|ime—2-ik
00000000000

Agi[z(t —279k)] = Agi[t(V)]limt—2-ip, YV j,kEZ (3.4)
0000005 00000000
I[Ay[z(t)]] = i & I[Agi[x(t—279K)]| = aip, Vi, j,k€Z (3.5)
0oooo

7.00x()0000 22000000000+ 00000000000000O0O0OOOOOOO +oco
00000000000 () 0000000000000 O0D0OD0OO0OO0ODOOOODOODOD
gbooobooooboobooon

+oo
. - . . 2
jginoo Vo = _LJ Vi is dense in L7(R)
7T (3.6)

+oo
lim Vy = Vo ={0
jo—oo 2 j:rlo 2 ={0}

ubo1l1-70000000 AgjDDDDDL2(R)DDDDDDDDDDDDD 270000000000
00000000 ooUuoooo0n3-7.0000000000000000{Vy |jeZ}O LQ(R)
00000000 (multi-resolution approximation) 0 0 00O

3.2 UUoooooooon

{Vy |jeZz}0O LA R)ODODODO0000D000O00O000O00000O0
{2242t —n) | ne Z} (3.7)

0V, O000000000000000¢()eV,cL?(RO000000000000O0000O000
¢(t)0000D000000 (scaling function) 00000000 «(t) € L*(R)0000 20000000
Aylz())00000000000000000

Agi [2(t)] = 27723 " Ay, (27t — ) (3.8)

nez

O000000000000Ay,2,0000000000000000 27/2¢*(29t—m)0000 t00D0
00{2/%2¢(2t—n) |neZ} 0000000000000

<@mnzwﬂ/mW@%—MAMAMdu neZ (3.9)
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0000000000000{2/2¢(2t—n)|neZ}0 V, 00O00D00O0000A, OV, 0000
00000000000 (3.900000Ay,[x(#)]0000 2()0000000000000000000
0 (3.9 00

Amxn=2ﬂf/w¢w?t—nn@)ﬁ, nez (3.10)

0000000002+ 00002 000000000000000

0 (3.100000000000000 (3.1000000000000000000000002/2¢*(27t—n)
000000000000000000 24000000277 0000000000000000000
0000000000000000000000000000000000000000000 (LPF) O
0000000000000000000000000000002//2¢(2t-n)00000 270000
O000000000000000000000000000000000000D0000000000
O0LPFOODOODODOOOOODODOODOOOD

0000000000 (3.10)00x(t)0000000000000000000000002//2¢(27t)0
sinc0000000 2//2¢(27t) = sin(277t)/(27t) 0000 000000000000000000O0
LPFO0DDO0O0OD00000000D02(+)0000 200000000 Ay2, 00000000000
000 2()0000000000000000000000000O00000000O0O00000000
00000000000000000000000

0000000000000000000 2()0000000000000000000000000
000000 200002000 Ay,[z(#)]00000000000000000O0O0OO00OO LPFO
00D0000000000000000000000000000 A,»2,00000000000000
00000000000000020000000000000000000000000000000
000000000 2°=1000000 4,2,0000000000

3.3 Uouoboooooobboogo

0000000000000000002°=100=2¢)00000 4,2,00000000 z()000
D0000000000000000000 Ayz,, j<0000000000000000 z(t)0000
0000000 Ayz,, j<00000000000003.005.0004,2,000000000000
0000000000000 000000000000000000000000000000

0000 V. 00000V, O000000000000000000000000000 VxO000O
0V,O0000O000000000V,O00000 ¢(t)00V, 0000000 {2Y2¢(2t—n)|nec Z}
ooooo

$(t) = Y _ lo(=n)2"?¢(2t —n) (3.11)

nez
O000000o0oUuoooo0ood(-n) 00000000 00R0OOOODOOODOOO0OOOOOO
0 lo(—n)D0O{2Y2¢(2t—n) |neZ}000000000

zd—ny:/févavap-m¢@)ﬁ (3.12)

0000000000 (311) 00000000 ¢(t)0 200000000000000O00O0OO0O (two
scale) 0000000000000 ODOOOO0ODOODOOOOOD ¢ot)0OODDOODOOODOOODOOO
000000000000 00000000 ¢(y)00000O0O00OC0 1010000000000 0OO
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I —

L

20n

l down sampler (2:1)

031: 0000 Agzn, 0 Agiiz, 00000 (00)00000 Agex, 00 Agiz,,j <0000000000

000 (311)0¢02¢t—k0000000 «(t)000000000 (3.10)0000000000000
0000000000000000

AQJZ‘TL — Z lo(—k)AQJ'Jrle'rL-ﬁ-k
keZ

00000000002 +k=m0000000000
Ayzn = Y lo(2n — m) Agsr1 2, (3.13)
meZ

gbooboodgobgoood

0(3.13)00000000000Ih(n) 00000 FIRODOODO LoOO0O0O000O00Agix,0 Agjtiay,
O000000000000000000Ayz,00Ayw2,0 FIROOOO L,OOOOOOOOOOT1
go0ooooobooodooogoooooOo31oo0ooooooogoo0ooDooDg A2, 00Lp0ODOO
oo0o0000O000000ooooooooooooooO0DODODoDOn Ay, j<000000
obooooobo 31000000000

34 U0O0OOOOOOOOOOODOOOOO

00022t 0000000 V,+ 000000 20000000V, 00000000000000
0000000V, CVynm O0OO0O0O0Vy,+ 0000V, 0000000 O, 00000000000

Viojit1 = Vi @O0y (3.14)

D00D0DD0O00L*R)0D00000000 O, 0000000 Dy000 z(t) e LA(R)0 O, 0000
000000000 Dy[2(t)) 0000000000000000

{ 272427t —n) | n e Z} (3.15)

0O, 000000000000 0DOb 1/1(75)601CLQ(R)DDDDDDDDDDDDDDDDDDD
(3.15)00 (290000000 Y@ ODOODOODDO0OUDOOOODOOUOOO
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00 Dy[z(t)]00000000 0, 0000000000000000000000 {29/2¢(29t—n) |n e
zyooooo

Das[a(t)] =272 Doy wntp(27t — n) (3.16)
nez

0000000000000Dy,2, 000000000000000 20/2((2t—-m)00000000
{29/%(2t-n) |n€Z} 0000000000000

Dyxnzzﬂf/m¢WWt—nm@)ﬁ (3.17)

00000000000000000 Agima, 0 Aye, 00000000000

00 2()0000 100000000 A42,00000 JO000000O00O0OOOOOOOOOOOO
A, y2, 00000D00000000D0O00O0 { Dy, | —J<j<-1}0000000000000
ocooooooobo v, oooooooooooooooo

V1 - 02—1 D 02—2 ---D 027J S VQ—J (318)

00000000000 Vv, 000000000000000 (orthogonal wavelet decomposition) 00 00

3.5 U0OO0Oooobouoobobooboboobooa

000000000000 0000000000000000000000000000000000
O0000000000000000000000000%(t)000,0000000V,0000000
{22¢(2t —n) |ne€Z}DDOODOO

Y(t) =Y ho(—n)2'/?¢(2t —n) (3.19)
nez
0000000000000A(—n)0000000000p000000000000000000 he(—n)
00{2Y2¢(2t—n) |neZz}00O0O0O0OO0O0O

hdfm:i/mfﬂ¢%%fnﬁﬂﬂdt (3.20)

— 00

0000000000 (3.19)0¢t0 29¢— 40000000 x()000000000 (3.10),(3.17) 000
00000000000000000000000000

ngxn:Zho(Zn—k)A2j+1ack (3.21)
keZ
goooog
0(321) 00000000000k (n) 00000 FIRODODOO HOOODOOOOOODyjx,0Ag+12,
0000000000000 Dyjx, 00 Agi+1x, 0 FIRODOOO HoOODODOODOODOOD 100000
OO000o00ooooooOo3200000000000000000D00000DODO000OO00O0 Az,
O0L, 00000000000 2:1000000000000000 (—j—-1)0OO0O0O0O0OOO0OH,OOO
oooooooOo2:100000000000000O000O0D0ODbOO0O Dyxy, g<O0bOODODOO
ooooog 32000000000
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A jnx, — H, M | —— D ;x,
— j—1times
L
-l .

Agﬂxn_"Ln_"l_" ............... _"LD_"‘L—‘

l down sampler (2:1)

0 3.2 0000 Doy 0 Agnz, 00000 (00)00000 Agex, 00 Dyan,j < 000000
oooo

3.6 UUO0oooooobouooobono

V,=V,60,000000¢(2t)eV,00V, 0000000 {¢(t—-n)|neZ000 0,000
0000 {¢(t—-n)|nez}0000000

$(2t — k) =272 "l (k—2n)p(t —n) + 272 " hy(k — 2n)e(t — n) (3.22)

nez nez
00000000000000000000 &4(k—2n),h(k—2n)0 Li(n),hy(n) 00000000000
00000000000000000000000000004(n),(r)0000 0000000000
0000000000000000000000000 ii(k—2n),h(k—20)000000000 (3.22)
000002°Y2000000000000000000000
0000000 L(k—2n),h(k—2n)00{¢(t—n),(t—n)|neZ}00000000

li(k —2n) = 2'/2 / Oo(j)*(t —n)p(2t — k) dt (3.23)

hi(k — 2n) = 21/2 / Oow*(t —n)p(2t — k) dt (3.24)

00000000 (3.22)00000¢0 2¢0000000 «(t)000000000 (3.10),(3.17)0000
00000000000

A2j+1$n = Z ll(n — 2]€)A2j$k + Z hl(n — Qk)ngl‘k (325)
keZ keZ

0000000000 () 00000000000000000000O0O0O0O00O000O0O0OD0O0OO0
0000000000000 000000000000000o00 (orthogonal wavelet reconstruction) O
ooo

0@32)00000000000LMRE0MMR)DOOOO0ODO0OO FIRODOOO L,,H[, 0000000
00 Agjrz,0 Agsx,0 Do, 0000000000000 000O0O0OAgjtrx, 00 Agsa,0 Doja,, 00
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A x

241 n

.

D-x—rT =-H1

t | up sampler (1:2)

0 33: 0000 Ay, 0 Dy, 000000 Agniz, 00000

000000 0000000000FIROO0OO Ly, A/, 000000000000000000000 3.3
oooo

00000000000000000000000000000000000 (3.13)0(3.21)0(3.25)00
0000000000000000000000000000 (subband filter) 000000000000
000000000000 00000000000000000000000000000000000
000000000000000000000000000000000000000 LO000000
00 H,0OOOOOOOOOOO0O00000000000000000000000000000000
000000000000000000000000000000000000000000000 L,0
00000000 A/, 00000000000000000000000000000003000000
0000000000000000000000000000340000

0000000002 =100 000000000000000000000000000000
000000000000000000000000000000000000000000000000
000000000000000000000000 ¢(t)00000000 () 00000000000
00000000000 ly(t), Li(t), he(t), () 00 00000000000000

3.7 OD0OO0O0O00ooooooon

0 (3.12)00 (3.20)00 (3.23)00 (3.24) 000000 FIRODDDOO Lo, Hy, Ly, H, 00000000
ooooooo

lo(n), ho(n), li(n), hi(n)
0000000000 (3.23)00 (324)0 n=0000000000000000000 (3.12)00 (3.20)
D000000000000006((R) D L(r)O00 hon)0 k() 000000

li(n) = I5(—n) (3.26)
hi(n) = hg(—n) (3.27)

000000000V, 00,000000000000000000000{¢(t—n)]|neZ}0O
{¢(t-n)|neZ}0000000000000000000O

/mw@—mw@ﬁzo, ¥m e Z (3.28)
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i { =3y l _'Afxn
Ly
Ly ™ } { Hy — D%,

l down sampler (2:1)

—~ L
D x E_’ T L “(}
2T T - Hl T - Ll g
D,.x, It b[a @—-Azoxn

T up sampler (1:2})

034 300000000000000DO0000O0DOODOOOOODOOOOOOODbOOn

0000000 (3.11),(3.19)00 (3.28) 0000000

> lo(n)ho(k) /Ooqb*(t —2m+n)p(t+k)dt =0, VmeZ (3.29)

nezZ kez

0000000 (329 00k#n—2m000000000000O00O0k=n-2n000000000
ooooooboooooboboonog

> lo(n)ho(n—2m) =0, Vme Z (3.30)

nez

0000000 (3.30) 0000000000

ho(n) = (=1)""Iy(1 — n) (3.31)
0000000 L(n)O hi(pn)0OODOO

hi(n) = (=1)'""li (1 —n) (3.32)

ooboooooobooobog Ly HyODOOo 0,0 [, 0000000000O000000000000
gboboobOobooooboobooooboobooooooobo

3.8 DaubechiesO OO OOOOOOO

gboooooboooooooooooobooooooooooobobobobOobOobOOobOoDno
000000000000 =) 0000000000000 0DO0O0O00DDO0O0OOOO0O0UOOOOOD
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000000000000000000000000000000000000000000000Meyer
000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
0¢(+) 00000000 ¢(#)000000000000000 Ly, Ly, Hy, H;000000000000
00O Daubechies 100 0000000000000000000000000000D000000000O
Daubechies 10 00 00000000000000000000000

0000000000000000000000000000000000000000000000
lo(t),11(t), ho(t), hy(t) 000 0000000000000000000000Daubechiesd1 0000000
0000 NODOOODOOOOOO0O0O {l(n)|ne Z}0000000000000000N OODaubechies
0000D0000000000

(3.33)

Z lo(n)lg(n —2m) =0, m#0
k=0
0 (3.33) 00000 lp(n) D00 ODaubechiessDOODOO N=1,...,1000000 3100000000
Daubechies 0 00 (3.33) 00000 lp(n),N > 200000 (3.11)0000000000000000

/ pla)dz =10000 ¢() 0000000000 ¢(») 0000000000000 ¢(z)0 N—10

0000000 obobOO0O0O0OO0O0O0O0DUODODODOOOOOO0ODO00UDODDDaubechiesO O OOOO
oobooooboobooooooooooooooooobooobobooooobooooooboboooooboobooon
gbooobOoboooobobooooobooooon

005680 DO0O0D0DODOO0DOOO0O0DODOOO NO DaubechiessJODOOOOODOOOOODOODOOOO
goooooboooboooooooooobobooboobobobooooboboooobOoboboobooo
gbooooobooooooboboood

ooo
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aubechies 0000 Lo OOOOOOOO lg(n)

@

— 9

lo (n)

LN [ n ]

l()(’n)

NI I I I I T T T T T OODDODDOOTTUtnUttUtTNOUt MOt s bl bRl WWWWwWwWwN NN NN - 2|:|

POk WNN RO L SO TOUAEWN—FOOXTRUREWNRFONOUAWNHFOU R WN—,OWN R~ O~ O3 T

2—1 2

2—1/2
0.482962913145
0.836516303738
0.224143868042
—0.129409522551
0.332670552950
0.806891509311
0.459877502118
—0.135011020010
—0.085441273882
0.035226291882
0.230377813309
0.714846570553
0.630880767930
—0.027983769417
—0.187034811719
0.030841381836
0.032883011667
—0.010597401785
0.160102397974
0.603829269797
0.724308528438
0.138428145901
—0.242294887066
—0.032244869585
0.077571493840
—0.006241490213
—0.012580751999
0.003335725285
0.111540743350
0.494623890398
0.751133908021
0.315250351709
—0.226264693965
—0.129766867567
0.097501605587
0.027522865530
—0.031582039318
0.000553842201
0.004777257511
—0.001077301085
0.077852054085
0.396539319482
0.729132090846
0.469782287405
—0.143906003929
—0.224036184994
0.071309219267
0.080612609151
—0.038029936935
—0.016574541631
0.012550998556
0.000429577973
—0.001801640704

5@@@@@@@@@@@@@@@@@@OOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOO\]

e e e e T e e e T e T e T e T e e B S e e e S S
SO DD OO DD DD OO oo oo oo oo
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SBoouo ok whn— o

= e
U W N =

SooNootksw— O

= e e
N O UL W

Soowuo ok wn— o

e e e i e M T
© 00 O ULk WD =

0.000353713800
0.054415842243
0.312871590914
0.675630736297
0.585354683654
—0.015829105256
—0.284015542962
0.000472484574
0.128747426620
—0.017369301002
—0.044088253931
0.013981027917
0.008746094047
—0.004870352993
—0.000391740373
0.000675449406
—0.000117476784
0.038077947364
0.243834674613
0.604823123690
0.657288078051
0.133197385825
—0.293273783279
—0.096840783223
0.0148540749338
0.030725681479
—0.067632829061
0.000250947115
0.022361662124
—0.004723204758
—0.004281503682
0.001847646883
0.000230385764
—0.000251963189
0.000039347320
0.026670057901
0.188176800078
0.527201188932
0.688459039454
0.281172343661
—0.249846424327
—0.195946274377
0.127369340336
0.093057364604
—0.071394147166
—0.029457536822
0.033212674059
0.003606553567
—0.010733175483
0.001395351747
0.001992405295
—0.000685856695
—0.000116466855
0.000093588670
—0.000013264203
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40 UOOoOO0Uootbbotgbbotodod

4.1 O0OO0O0OO0OOO0O0O
0000 zt)0DDODDODDODOOOO
N
a(t) =) wn(t) (4.1)

000000000000 2,(t)0J0000000O0O0O0O0OUOOOO0OOOOOOUOOOOOOOOO
goooooooooboogoboooboobooooboobooooooooboobboooboooDboboOoo
0000000000o0000oOo000ooo0o0ooOo0oU0oODOo0UD z(t)D0OD0O00DODOO0OOOO
00000000 2(t) 0000000000000

x(t) = x1(t) * x2(t) - - xxpn (L)

gooobbobboooooobboboboooooobbbboooooobobooooog
N
X(w) =[] Xnw) (4.2)
n=1

000000000000000000000000000000000000X(w)=Fz1t)], X,(w)=
Flz,(t)] 000000000 (4.2)000000000000000000000000000000000
000000000000000000000000000000000000000 (cepstrum analysis)
000000000000000000 (spectrum) 0 spec 000000000000
000000000 X(w)00OODODOOOO0O00O0O0000000000000000000000
2z,()000000000000000000000000000000000000000000000
0000 X(w)0DOODOOOOOOO0000000000000 (Complex Cepstrum) 00000000
0000z 000000000 |X(W200000 2,() 000000000 |X,(w)|20000000
0000000000000000000 |X(w)?000000000000000000000000
00000 (Power Cepstrum) 10 000 00000000000000000000000O0O0OOO0O
0 (42)00000 2000

N
X (@)1 = T 1Xuw)P? (4.3)

doodooooooooooo200000
N
log | X (w)| = ) log | Xp(w)] (4.4)
n=1
godoooooobbbbooooobbobobbobbooooooo

N
pe(t) = F M log | X (w)[] = Y F ' log| Xn(w)]] (4.5)
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gbobooobooboobooobooobooooooooooooobooooboooooOooooottgn
O0000000000000000000000000000 (frequency) 0 fred que0 0000000
0000 (quefrency) D00 O0O

0000000000 z,.(t) 0000000000000 00O00O0O00O0OOO0O0OO0O00O0
000000000000000000000000000 |X,.(w)|?0000000000000000
0000000000000 (fiter) 00Al 000000 OO0O (lifter) 0000000000 OOOOO
0000000000000 (high) OO (low)DODOODO0OODO0OOOO0OO0ODOODOODOOOODOOOOO
000000000000000 (long)0 0 (short) 0000

0000000000000 000000000000000000000 2(H)000000 y) OO
00000 sO0000 ay(t) 00

z(t) =y(t) + ay(t —s), la| <1 (4.6)

000000000000000000Oy(#)0000000000 h(r)=4(r)+ad(r—s)00000
0000000000000 «(t)=h(t)*y(t)000000000000000000y()0 «(t)000
00000000000 0000000000000000000y(t)0000000000 s0000
0000000000 ()00 »y(¢)0000000000000000000000000000000
y®) O y(t—s)00000000000000000000000000000000000000 y(t)
0000000000000000000000000000000000000

000x(t), h(t), y() 0000000000000 X(w), Hw), Yw)0O0O0OOOO (4.6) 00000
00000000000000000000000000000000

X(w) = Y(w)H(w) = Y(w)(l +ae*m) (4.7)
odoooooboooooboooo

X @)=Y (@)1 + ae ]2
— [V (@)P(L+ ae™ ) (1 + ac™?)

=Y (w)|? (1 +a® + 2a cos(ws)) (4.8)
gooooboobogd
2
log | X (w)|? = log |Y (w)|* + log(1 + a?) + log<1 + ra2 cos(ws)) (4.9)
a
2
DDDDDDDmM<1DDDDDDD@Tf%¢<Hnmmmmmu%uawmﬂmmmmm—1<x§1
2?2 23 ot !

a x—;-ﬁ-?—Z-i----DDDDDDDDDDDDDDDD

log | X (w)]? = log |V (w)|* + log(1 + a*) + i ()" (2 ncos”(ws) (4.10)
— n 1+ a? '

000000000000 20000000000000000000¢=00000000030000
00 cos(ws),cos(2ws),cos(3ws),...0000000000000000000000O00O0 sO00000
0000000000000000000000000 2,.(t)00

Zpe(t) = Ype(t) + Aod(t) + i An(5(t = ns) + 6(t + ns)) (4.11)

n=1
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00o0oooDoOdoooA, neZlOOOOOOOODODODODODOOOODODODODODODODOODOOODOO
000000000000000000000000y(#)000000000 |Y(w)?20 |X(w)20000
Jooooooooooooobobobooooooooboboobbbo0o0g sbbobboogo

000000000000000000 «2(t)000000000000O00O0O0OOOO0OOOOOOO
gobobooboboooboooboboobooboobooubobbobboooDboooboooo
gooooboooobboooboooobooobooooboobooobbooobuooon
oo oo b oo booooobooooon
000000000 «(t) 0000000000000 000O0O0O0OOOOU0ODOOOUODOOOOOO
oo oo oo oo oooobouooooo
2x(t)00000000000000000O0O0O0O0000O00O0O0O00O0O0O0UOOOOOUOOODOO
000 2¢)0000000000000000O00O0ODOO0O0O0O0 x(t)00000000O0OOOOOOO
0000000000 () 000000000 DO0O00CO000z(t)DO000DO0OO0OODOOOOOOO
goooooood

00000oo00o0ooo0oooUoooo0ooU0 (41)o0oo0 3000000000 00000
00000 (long) 00000000000 00000|e/0 10000002/(1+6?) 00000 100
000000000 30000000000000000000000D00 () 00000000000
goboooobbooobooobboooobboobboobooubbooUbbooUbDooooo
gobooooobbuoooobobooooboouooooob
oded OO

y(t):cos(%r%t)e*%, t=0,1,...,23

goooboooogoogo

1, t=0
h(t)=4¢ 0.7, t=10
0, others

00000000000000000000x() =y(t)+«k(t)000000000000«() 0000
000000000000000000000000000D00000000000 y(#)0000000
0000000000000 000000000OA#)0000000000000O002(¢)00000
N =64,128,256 00000 000000000000000D00000O000D000O0O0O0000OO0
000000000000000 () 000000000000000000000000000000
000 041(e)00000000000000000000000000000 y(t)000000000
00000000 (b)0000()000000000000 z()00000000000(c)00000
000000 (h)00O0O00000000000000000000 ()0 N=1280000000000
00000000000000 (d)0000W)00000000000000000000000000
0000000000000000 (¢)000000000000000001000000000000
0D000000000000000000 10000000000000000000000000000
0000 200000000000000 ()000000000000000000000000000
000 (00000000000 »(+)00000000000000000() 00000000000
000000000000000000000000000000000000000 «(t)000000
00 N=64,128,256 0000 0000000000000000000000O0O0O0ODOOOOOOO
0000D000000D00000000000000 420000
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(a) original signal y(t) (b) power spectrum of y(t)

1 20
0.5 15
0 10
-0.5 5
-1 - . - - 0 -
0 5 10 15 20 -50 0 50
time frequency
(c) observed signal x(t) (d) power stpectrum of x(t)
1 60
50
0.5
40
0 30
20
-0.5
10
-1 05— <=
0 10 20 30 -50 0 50
time frequency
(e) power cepstrum of x(t) (f) estimated power spectrum of y(t)
1 20
15
0.5
10
0
5
-0.5 0
-50 0 50 -50 0 50
quefrency frequency

041: 006000000000 00OCODOODOOOOODOODOOODOODOOOOODOOOOOOOD
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0.5

0.5

-0.5

0.5

-0.5

(a) power cepstrum N=64

quefrency

(c) power cepstrum N=128

-50 0 50
quefrency
(e) power cepstrum N=256
-100 -50 0 50 100
quefrency

20

15

10

20

15

10

20

15

10

(b) estimated power spectrum N=64

frequency

(d) estimated power spectrum N=128

-50 0 50
frequency

(f) estimated power spectrum N=256

-100 -50 0 50 100
frequency

U042 00000000000000000



4.2 0O0O0O0O0OOOO

gobobobooooooobobobbobobobooooobobobooooooboboboo
gogbbodbbdooooobooboooboboobbooobobboobboobbooboboobo
goobooboobooooboobooboobooobuoobboobboobboobDboobLbOooobog
god
O0«2(¢)0000000000000000O00DO0O00O0O0OODO0O0O0O0O0OO0OO0O0OOOO0O =z
goooog
log(z) = log |x| + i arg(z) (4.12)

O000000z(t)DOOOOOOOOO
Teo(t) = FHlog Fla(t)]] = F Hlog | X (w)| + iarg(X (w))] (4.13)

000000000000000000000000000000000000000000000000
00000 arg(X(w)) 00000000 (—x,7)0000000000000000000000 arg(X)
000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
000000000 ,.() 000000000 «.(t) 000000000002t 000000000
0 ,e(t) 0O

pe(t) = F " [log | X (w)|?]
=FHlog(X (w) X" (w))]
=F log X (w) + log X*(w)] (4.14)

gbooooboobooooobooooboobooon

00000002 0000000000 zp(t)00
Tpe(t) = Tee(t) + Tee(—t) (4.15)

000000000000000000000000000000000000000000000000
000000000000000000000000000000000000 200000000000
000000000000
0000000000000 2() =y(t)+ay(t—s), |/ <100000000000000000=(t)
00000000000000000

log X (w) =logY (w) + log(l + ae*i“’s) (4.16)

OO0000000 200 Taylor OO OO

log X _ o an(il)nJrl —inws
g X (w) =logY(w)+ Z — g ° (4.17)
n=1 ’
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0000000000z 000000000 z.()000000000000000

Tee(t) = F log X (w)]
an(i n+1

=Yeelt) + Y +5(t —ns) (4.18)

oboboooboobbOoobo sbooboooboobooboobo0soobooooooooooon
00000000000000000000000000000000000000000000O00y(¢)
000000Y(w)U X(w)OOODDODOOOOOOOOY(w)OOOOODOOOODODOOODODOOOOOO
00000000y(t)00O00O00oooooooo

oo 70 00

gbooboodoogagno

1, t=0
h(t) =< 0.7, t=10
0, others

00000000000000000000«(t)=y()+h()000000000000«(¢) 000000
00000000000000000000000000000000000 y()0000000000
00000000000A(#)00000000000000002(#) 00000 N=640000000
000000000000

000 043()00000000000000000000000000000 ¢()00000000
0000000000 (b)0000()000000000000 «(¢t)00000000000()0000
0000000 (1) 00000000000000000000000 ()0 N=6400000000
00000000000000000 (d)0000()00000000000000000000000
000000000000000000000 (¢)00000000000000000100000000
000000000000000000000001000000000000000000000000
00000000 200000000000000 ()00000000000000000000000
0000000 ())00000000000000000000000000000 (g)0000()00
000000000000000

4.3 DDDDDDDDDDD(DD)DDDDDDDDD
0 (49000000 (416)00000J«>1000000000000000 (41600000
log X (w) = log Y (w) + log (ae_i“’s(l + a_le“"s)> (4.19)

00000Je Y <1000000Taylor 0000000000000 O0Taylor0O000000O

log X (w) = log Y'(w) +1 s+ 3 AU 4.20
og X (w) =logY(w) + oga—zws—l—ZlTe (4.20)
gooodoooobbbbooodooououobobobobooga
s —-n _1n+1
Tee(t) = Yee(t) + 8(t) loga + F 1 [—iws] + Z %5(15 + ns) (4.21)
n=1 :
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(a) original signal y(t)

5 10 15 20
time

(c) observed signal x(t)

10 20 30
time

(e) complex cepstrum of x(t)

20 40 60
quefrency

(9) estimated y(t)

time

-10

(b) power spectrum of y(t)

-20 0 20
frequency

(d) power spectrum of x(t)

-20 0 20
frequency

(f) estimated power spectrum of y(t)

=20 0 20
frequency
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00000000 (418)0000000e>1000000000000000 23000000000
300000000000000000000000000000000000000000000000
+(t)0000000000000000000

000000 #(4)0 200 X(;)000000000

Az" ﬂ(l —a;z7 1Y) H(l —b;z)
X(z) = —— T (4.22)

[Ta=czH ] -diz)

i=1 i=1

gooooooooooooo
lag|, [bil, |cil, |di] <1 Vi

obobooboboobae,; 000000 z:000000000DO0DOODOOOOOOO,d;0D000
o0 000000000000000000000AQODOOOODODO,"O0r<0D0O0ODOODOOOO
r>00000000000000000000000000 (422)0000000

MNa 23
log X (z)=log A+ rlogz+ Z log(1 —a;z 1) + Z log(1 — b;z)
i=1

i=1

Ne ndq
- Z log(1 — iz 1) — Z log(1 —d;z) (4.23)
i=1 i=1
O00000000log(l+«)0 Taylor OO OO
log(1 oS EA 1 4.24
og(1+x) Z} T or |z| < (4.24)

gbooooooboooogon

oo

log X (2) =log A + rlog 2 - ii %Z‘" - iz %Zﬂ

1=1n=1 i=1 n=1
Ne 00 n g OO m
Ci _—n dl n 4.95
DI D) D (4.25)
i=1n=1 1=1n=1

gooooood

D)= > (un-1) (4.26)
1, n>0
where, wu(n) = { 0. n<0

gbooabood

np

log X (z)=log A +rlogz — Z Z a—iz*"u(n— 1) —
n

1=1 n=—o00 i=1 n=—o0
+ Z > %z*nu(n —1)+ Z > d%z”u(n —-1) (4.27)
1=1 n=—o00 1=1 n=—00
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gobooOobooo 4600000 n0 —mOOO0OO0OOOO

log X (z)=log A+ rlogz — i i %u(n -1z + i i b u(—n—1)z""

n

n=-—o0o i=1 n=-—o00 i=1

T DD DL TUSEISLIS I D ATE I (129

n=-—oo =1 n=—oo =1

000000000000 -000000000020000 (4.22)0000000000 z(n)O0OOO
gbooobooboooooboooboooon

—1)" Ta n ny b'fn
Zee(n)=0d(n)log A+ r(=1) {u(n—=1)+u(-n—-1)} — Z a—’u(n -1+ Z —y(—n—1)
n n n
i=1 i=1
Ne cn Nq d*’n
- -1) - 2 —n—1 4.29
#3 utn 1) =3 San - (4.29)
godddnbooobbboooobbbbog
G NS o XU
- + Z - Z ” for n <0
i=1 i=1
Tee(n) =< logA for n=0 (4.30)
r(=1)"  &8a;" A"
_ K3 K3 f 0
L SEAND SN

oooo
D(mmDDDDwamm¢mDDDDDDDDDDDDDDDDDDDDDDDDﬂjXDDDD
N00000000000000000000000000000000000000000000000
000000000000000000000000000000000000000000000000
00000000000000000000000000000000000000000000000
0000000000000000000wOOOO0O00000000200000000000000
ooo

0 (430)00000000000 2.(r) 0000 2()00000000000R<00 0000000
000000»>00000000000000000000000000O0OOOO00000000O0
000000000000000

Tpe(n), for n>0

Tee(n) =< 0.5zp0(n), for n#0 (4.31)
0, for n<0
0, for n>0

Tee(n) =< 0.5zp0(n), for n#0 (4.32)
Zpe(n), for n<0

goooooood
goboooooooboboobobooboooooboobooooooboobooooobooobooOoooooo
ugbobogbooobooboooboobbuoobooobooobooboobobooboobooooa
goboobobooobooboooobooboboobooboboooboooooboooboooboobooobobooaoon
00000000000000000000000000000O00 (exponential window) 0000000

_Ja" 0<axl for 0<t<N-1
w(t) = { 0, others (4.33)
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00 z(t)0000000 w(t)00000000000 20000-,00000000X(a"t2)00000
000000000000 «00000000 s0000af00000000000000000000
0000000000000000000090009900000000000

oo 8t oo
2
y(t) = cos(QWﬁt)e_é, t=0,1,...,23
gooooooooon
1, t=0
h(t) =< 2, t=10
0, others

00000000000000000000«(t)=y()+h()000000000000«(¢) 000000
00000000000000000000000000000000000 ¢y(#)0000000000
0D0000D000000A(H)OO0OO0DOD000000000D«z(#)00000 N=640000000
000000000000000AR(H)O0D0000000D0D2(4)000000000000000000
000 044(x)0000000000000000000000000O0OOO y()00000000
0000000000 (b)0000()000000000000 #(4)00000000000()0000
0000000 ()00000000000000000000000 «(#)0N=6400000000
00000000000000000 (d)0000()00000000000000000000000
000000000000000000000 (¢)00000000000000000100000000
00000000000000000000000 1000000000000000000000000
00000000 200000000000000 ()00000000000000000000000
0000000 ()00000000000000000000000000000 (5)0000()00
0000000000D00000A(H)O0D0D0000000D000000O0D0000000000000 10
000000000000000000000000000000000000000000000000
00 7000A(#)00000000000D00000 43()0000000000000 0,10,20,30,...
0000000 4.4(e)0000,-10,—20,—30,...0000000000000000000000000
00000000000000000000()00000000000000000000000000
0000000000000000000000000000000000000000

4.4 0000000
000000 2() 00000000 X(w)0OD0ODO

X(w) = —isgn(w)X (w) (4.34)

00000000000 X(w)OOOOOOOO (Hilbert transform) 00000000

1, z >0
sgn(x) = 0,1 ng
—1, r <

0000000000000 «(+) 00000000 #+)00X(w)00000000000000000
—isgn(w) 000000000 1/ 00000000000000000000

B(t)=F X ()] = F ' [—isgn(w) X (w)]
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(a) original signal y(t)

0.5
0 0
-0.5
-1 -5
0 5 10 15 20
time
(c) observed signal x(t)
20
10
0 0
-10
-5 -20
0 10 20 30
time
(e) complex cepstrum of x(t)
10
0.5 /\ 5
0 \V 0
-0.5 -5
-1 -10
-60 -40 =20 0
quefrency
(9) estimated y(t)
1
0
-1
-2
0 5 10 15 20

time

(b) power spectrum of y(t)

-20 0 20
frequency

(d) power spectrum of x(t)

-20 0 20
frequency

(f) estimated power spectrum of y(t)

=20 0 20
frequency

U044 00 80000000000 OOOODOOOOOOOOOOOOOOOOOD0OO
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04.1: 000000000
x(t) (t)
g(t) —y(t)
st | —ig(tye
y(t) cos(wt) | y(t) sin(wt)
y(t) sin(wt) | —y(t) cos(wt)
= F [isgn()] « FX )] = - wal)
1 a(n)
= ; [mt — TdT (435)

oooo
0000000000000004100000X(w)0 X(w)0OOOOOOODOOOO0OO0O0000O0
()0 #(+)000000000000000000000000«(¢)0 &¢)00

/Oom(t) () dt:/jo}"’l[X(w) b X (—w)] dt

1 o0 o0 o0 N .

= —/ / / X(w— ) X*(—w)dw'e™ dw dt
27 —o0d —ood —oo

:/ / 2(t)e At X (—w')dw'

:/joX(—w’)X*(—w’)dw’
:/Oo(—i)sgn(w’)X(—w')X*(—w’)dw’

— 00

i /_ "~ s (@) [ X () 2dw
o (4.36)

gboooobooooooobooboboobooooooboboooxob0-00b0bbo0onbDo

4.5 0000

00 zx¢) 0000000000000 0D00000000 2¢x)0000x(t)000000000O0 2(t)
gboooboooboobon

x4 (t)=a(t) +i2(t) (4.37)

z_(t)=wx(t) —iz(t) (4.38)

000000000000002,.(4)02_(1)000000000000000000000000000
2, (H)00000000000 2,.(t), »_(1) 000000000000 X4 (w),X_(w)00O

X4 (w)=X(w) +i(—isgn(w)) X (w) = X (w) + sgn(w) X (w) (4.39)
X(w) —sgn(w)X (w) (4.40)

2
&
I
ha
£
|
T
;A
s
=3
£
Ja
3
I
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oooooooo

2X (w), w>0

Xi(w) = X(w), w=0 (4.41)
0, w <0
0, w >0

X (w) = X (w), w=0 (4.42)
2X (w), w<0

0000000000000 000000000O0000U0000U00,L(t) 0000000 OOOOOO
x_(1)000000000000000000000000 e**00

et — cos(wt) + i sin(wt) (4.43)

000000000000000000000000000

2,()00000000 X, (w)000D0000000000000000000X,(#)0000000
0 2rry(—w)0000X,(1)0000000000000000000000000000000000
00oooooo

FIXL(W)] = 2mey(~w)

= 2n(z(—w) +iz(—w))
27 (z(w) — iz (w)) (4.44)

000D0X, (1)000 (441)000¢<00 0000000000000000000000000000
0000000000X,() 0000000000 A)O0000000000000000¢<0000
000000000000000000000000000000000000000000000000
000000000000000

000000 2()00000 z,(t)00«(¢)0000000000000000 X(w)0ODOOOOO
(441)0000000000 X, (w)00DOO0OO0000000000000000000000000000
00000000z(¢) 0000 NDOOOOOOO

2X (w), we{l,2,...,N/2 -1}
Xi(w) =1 X(w), w e {0,N/2}
0, we {N/2+1,...,N -1}

O000«z(t) 0000 NOOOOOOO

2X (w), we{l,2,...,(N-1)/2}
Xi(w) =< X(w), w=0
0, we{N-1)/2+1,...,N—1}

gooobobobobogooo
O00O0Ocos(wt) DOO0O0O0O0O0OO0O m(t)D0D000O (Amplitude Modulation) O O

z(t) = m(t) cos(wt)

0000D0000m(t)0 2()00000000000000002()000000000000 m(t)0
0000000000000 0000000000000000000000000000000
000000000 «(¢)00000000000 41000

Z(t) = m(t) sin(wt)
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O00000z(t)00000OO

x+(t) = m(t)cos(wt) £ ¢ m(t) sin(wt)
= m(t)et™! (4.45)
gbooooobooooboobooon
|z(8)] = [m(?)]

000O0m(t) >0,vt00000000000000 «(¢t)000000000000000000000
000000000m(t)>0,vt00000000000000000000000000
000000000000 2()00000 2, (t) =«(t)+i2(t) 000

Gm(t) = tan™? () (4.46)
x
goooobobobboooooooooboo
Wi (t) = —dm(t) (4.47)

gbooboodgbooobgan

0090 0000 sin(wet), we =27-0.020 00 Om(t) = 0.3sin(wpt) + 0.5, wy, = 27-0.00400000
000000000000000000000000000000000000000000000¢00
00000000¢=0,1,...,99000000000

00000000 45()000 m(t)000 (b)0000000000000 2()00000000000
00 (¢)000000000000000000z()000000000000000000000000
00000000000000 m(t)000 (40000
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(a) carrier wave

400 600 800
time

0 200 1000

(c) Amplitude modulated signal x(t) and the Hilbert transform

1 L

0.5

400 600 800
time

0 200 1000

(b) signal m(t)

400 600 800
time

0 200 1000

(d) Demodulated signal

400 600 800
time

0 200 1000

045 00 9000000000000 0DO0OOOODODOOOO
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